						Existing								New				Program Ch	ange	Adjustment		Remains w	ith RD
Description	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Per Respnd	Total Annual Respnses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Per Respon	Total Annual Respnses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapprovrd Collection	Response Time	Number of Respondt's	Respondt' s	Hours
Notification of approval and borrower responsibilities									765		2025	765.403; 766.204	654	. 1	. 654	0.33	216		216				
Refund of unobligated loan funds									765		2425	765.152(b)	548	1	. 548	0.17	93		93				
Appl. For Partial Rel., Subord. Or Consent - Subordination of RE/chattels	0560- 0158	465-1	1965.12(c)	5000	1	5000	1	5000	765		2060	765.205(a)(1) 765.206(a) 765.253 765.351 765.351(b)(1)	10,407	0.67	6,989	0.5	3,495			-2500	995		
Appl. For Partial Rel., Subord. Or Consent - ROW, exchange, Part. Release								above	765		2060	765.351	0	0	0	0	0						
Appl. For Partial Rel., Subord. Or Consent - Junior lien	0560- 0158	465-1	1965.16(a)					above	765		2060	765.206(a)	0	0	0	0	0						
Appl. For Partial Rel., Subord. Or Consent - minerals and timber		465-1	1965.13(h)					above	765		2060	765.351(b)(1)	0	0	0	0	0						
Appl. For Partial Rel., Subord. Or Consent - cease to operate	0560- 0158	465-1	1965.26(d)					above	765		2060	765.253	0	0	0	0	0						
Temporary amendment-consent to payment of proceeds from sale									765		2450	765.302 (d)	550	1	. 550	0.17	94		94				
Assignment, Acceptance, Release of Wool and Mohair - borrower	N/A	462-4		0	0	0	0	0	765		2465	765.305(b)	20	1	. 20	0.17	3		3				

						Existing								New				Program Ch	ange	Adjustment		Remains w	ith RD
Description	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Per Respnd	Total Annual Respnses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Per Respon	Total Annual Respnses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapprovrd Collection	Response Time	Number of Respondt's	Respondt' s	Hours
Assignment, Acceptance, Release of Wool and Mohair - broker	N/A	462-4							765		2465	765.305(b)	20	1	20	0.17	3		3				
Transfer of RE Security - transferee	0560- 0158	465-5	1965.27(b)(1)	2060	1	2060	0.5	1030	765		2476	765.401(b)	450	1	450	0.25	113			-112	-805		
Transfer of RE Security - transferor	N/A	465-5	1965.27(b)(1)	0	0	0	0	0	765		2476	765.401(b)	450	1	450	0.25	113		113				
Transfer of RE Security- multiple transferees	0560- 0158	465-5	1965.27(b)(9)					above	765		2476	included in 765.401(b)	0	0	0	0	0						
Transfer of RE Security (preparation of file)	0560- 0158	465-5	1965.27(g)(2)					above	765		2476	included in 765.401(b)	0	0	0	0	0						
Assumption Agreement	0560- 0158	1965-13	1965.27	511	1	511	0.25	128	765		2489	765.401(a)(2)	600	1	600	0.33	198				70		
Subordination by the Government - <i>eliminated</i> <i>Lender signature</i>	0560- 0158	460-2	1965.12					below	N/A	N/A	obsolete		0	0	0	0	0						
Subordination by the Government <i>Lender</i> - <i>eliminated signature</i>	0560- 0158	460-2	1962.30(e)	10,133	1.5	15200	0.25	3800	N/A	N/A	obsolete		0	0	0	0	0	-3800					
Lender's loan underwriting standards									765		written	765.101 (a)	586	1	586	0.33	193		193				
Borrower documentation of inability to graduate		resp. to 1951-F-5	1951.262(f) GL 1951-F-5					0	765		written	765.101(e)	5,007	1	5,007	0.08	401	_	401				
Lender documentaton of borrower's inability to graduate)		resp. to 1951-F-5	1951.262(f) GL 1951-F-5						765		written	765.101(e)	1,672	2.9	5,007	0.17	851		851				

						Existing								New				Program Ch	ange	Adjustment		Remains w	ith RD
Description	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Per Respnd	Total Annual Respnses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Per Respon	Total Annual Respnses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapprovrd Collection	Response Time	Number of Respondt's	Respondt' s	Hours
Request for Refund of Overpayment (No FSA in RD)	0575- 0075			0			0.25	0	765		written	765.155(c)	20	1	. 20	0.25	5				5		
Creditor consent to second subordination - crop insurance	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	765		written	765.205(c)(2) (i)	182	1	. 182	0.17	31	31					
Assignment of crop insurance proceeds - 2nd subordination	N/A	N/A	N/A	N/A	N/A	N/A	N/A	N/A	765		written	765.205(c)(2) (ii)	182	1	. 182	0.17	31	31					
Copy of operating plan provided to junior lienholder	N/A	N/A	1965.11(a)(2)	0	С	0	0	0	765		written	765.206(b)(2)	740	1	. 740	0.17	126		126	i			
Junior Lien Agreement to Not Foreclose	0560- 0158	written	1965.16(a)(4)	300	1	300	0.5	150	765		written	765.206(b)(4)	740	1	. 740	0.17	126			-99	75		
Copy of lease when RE security & minerals are leased		443-16							765		written	765.252(a) & (b)	350	1	. 350	0.33	116		116				
Copy of allotment lease			1962					0	765		written	765.252(e)					0						
Request to cease operating and copy of lease			1965.26(d)(5)						765		written	765.253(d) & (e)	350	1	350	0.5	175		175	i			
Other lienholder agreement for use of proceeds other than lien priority		written	1962.17(b) (2) 1965.13 (f) (1)						765		written	765.301(d) 765.303(a)(3)	978	1	. 978	0.25	245		245				
Lienholder concurrence to use proceeds to preserve security after disaster			1962.17(b) (2)(vi)					above	765			765.303(a)(3)	0	0	0	0	0						
Borrower request to lienholder to use proceeds other than lien priority									765		written	765.301(d)	391	2.5	978	0.17	166		166				
Borrower request for consent by other lienholder - timber and minerals									765		written	765.351(b)(2)	98	2.5	245	0.17	42		42				

						Existing								New				Program Ch	ange	Adjustment		Remains w	ith RD
Description	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Per Respnd	Total Annual Respnses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Per Respon	Total Annual Respnses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapprovrd Collection	Response Time	Number of Respondt's	Respondt' s	Hours
Consent by Other Lienholder - timber and minerals		written							765		written	765.351(b)(2)	245	1	L 245	0.25	61		61				
Documentation of sale under contract for deed	N/A							0	765		written	765.351(d) & 765.351(d)(4)	10	1	10	0.17	2		2	2			
Assignment of sale proceeds under contract for deed	N/A	written						above	765		written	765.351(d)(4)	0	(0	0	0						
Lender review of borrower prospectus	0575- 0093	FL 1951-F-	1951.262(f)	13508	1	. 13508	0.5	6754	765		written	765.101(d)	1,672		6,688	0.5	3,344			2508	-5918		
Lender response to borrower prospectus									765	,	written	765.101(e)	1,254	. 4	5,016	0.17	853		853	3			
Request to lease mineral rights (appr after 1985)	N/A	N/A	1965.17(c)	0	C	0	0	0	765	;		765.252(b) incl. with 765.252(a)	0	(0	0	0					0	(
Documentation to support request to cease operating	N/A	N/A	1965.26(d)(5)	0	C	0	0	0	765			765.253(e) incl. with 765.253(d)	0	(0	0	0						
Assignment of income - minerals and timber			1965.13						765		written	765.351(b)(2)	98	1	L 98	0.25	25		25	5			
Request of obligated party to wirthdraw	0560- 0158	written	1965.27(b)(5) (iii)	911	1	. 911	0.17	155	765		written	765.406(b)(4)	500	1	L 500	0.5	250			165	-70		
Require mortgage on land acq. W/ subord.									764			included w/ 765.205 (b) (13)	0	(0	0	0						
Consent by Other Lienholder - transfer and assumption	0560- 0158	written	1965.27(b)(11)	400	1	. 400	0.5	200	N/A				0	(0 0	0	0	-200					
Lien and Title Information - taking additional security	0560- 0158	written	1965.31	4411	1	. 4411	0.25	1103	N/A				0	(0	0	0	-1103					

					Existing								New				Program Ch	ange	Adjustment		Remains w	vith RD
Control Number	Form Number	Regulation			Total Annual Respnses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Per Respon	Total Annual Respnses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapprovrd Collection	Response Time	Number of Respondt's	Respondt' s	Hours
0560- 0158	written	1965.13(f)	1047	, 1	1047	0.25	262				incl. w/2060					0	-262					
0560- 0158	written	1965.16(a)					above	N/A				C	(0	0	0						
0560- 0158	written	1965.27(b)(8)	541	1	541	0.5	271	N/A				C	(0	0	0	-271					
0575- 0075			C)		0.25	0					<10										
N/A	450-5	450.5 VII	С	0	0	0	0					<10										
N/A								765		written	765.207	280	1	L 280	0.17	48		48				
0560- 0171	1962-1	1962.17(b)	55,550) 1	55550	0.33	18331	765		2040	765.302(a)	40,930	1	40,930	0.33	13,507				-4824		
0560- 0171	1962-1	1962.17 (a) (3)	13,750) 2	27,500	0.08	2,200	765		2040	765.302 (d), (e) & (g)	15,349	2	30,698	0.17	5,219			2475	544		
N/A								765		written	765.351(c)	10	1	10	0.17	2		2				
																		 				
							39384									60877	-5574	34558	2437	-9928		_
				<u> </u>																		†
			l			I							1	1		1		1		1	I	
	0560- 0158 0560- 0158 0560- 0158 0575- 0075 N/A N/A 0560- 0171	Number Number 0560- 0158 written 0560- 0158 written 0560- 0158 written 0575- 0075 N/A 450-5 N/A 0560- 0171 1962-1 0560- 0171 1962-1	Number Number Regulation 0560- 0158 written 1965.13(f) 0560- 0158 written 1965.16(a) 0560- 0158 written 1965.27(b)(8) 0575- 0075 N/A 450-5 450.5 VII N/A 0560- 0171 1962-1 1962.17(b) 0560- 0171 1962-1 1962.17 (a) (3)	Number Number Regulation Respond 0560- 0158 written 1965.13(f) 1047 0560- 0158 written 1965.16(a) 541 0575- 0075 0 0 0 N/A 450-5 450.5 VII 0 N/A 0560- 0171 1962-1 1962.17(b) 55,550 0560- 0171 1962-1 (3) 13,750	Control Number Form Number Regulation No. of Respond. Reports Per Respond 0560- 0158 written 1965.13(f) 1047 1 0560- 0158 written 1965.16(a) 541 1 0575- 0075 0 0 0 N/A 450-5 450.5 VII 0 0 N/A 0560- 0171 1962-1 1962.17(b) 55,550 1 0560- 0171 1962-1 (3) 13,750 2	Control Number Form Number Regulation No. of Reports Per Respond. Total Annual Responses 0560-0158 written 1965.13(f) 1047 1 1047 0560-0158 written 1965.16(a) 541 1 541 0575-0075 0 0 0 0 N/A 450-5 450.5 VII 0 0 0 N/A 1962-1 1962.17(b) 55,550 1 55550 0560-0171 1962-1 1962.17 (a) 13,750 2 27,500	Control Number Form Number Regulation No. of Reports Per Respond. Total Annual Response Per Annual Response Prime 0560-0158 written 1965.13(f) 1047 1 1047 0.25 0560-0158 written 1965.16(a) 541 1 541 0.5 0575-0075 0 0 0 0 0 N/A 450-5 450.5 VII 0 0 0 0 N/A 1962-1 1962.17 (a) (3) 13,750 2 27,500 0.08	Control Number Form Number Regulation No. of Respond. Per Respond. Per Respond. Responds Per Respond. Responses Per Per Responses Per Per Responses Per	Control Number Form Number Regulation No. of Reports Per Respond. Total Response Per Time Total Burden Hours Control Number 0560-0158 written 1965.13(f) 1047 1 1047 0.25 262 0560-0158 written 1965.16(a) 3 3 3 1 541 0.5 271 N/A 0575-0075 0 0 0 0 0 0 0 0 N/A 450-5 450.5 VII 0 0 0 0 0 0 0 0560-0171 1962-1 1962.17 (a) 13,750 2 27,500 0.08 2,200 765 N/A 765 765 765 765 765 765	Control Number Form Number Regulation No. of Respond. Perspond. Total Perspond. Persp	Control Form Number Regulation Respond Respond	Control Form Number Regulation Respond. No. of Person No. of	Control Number Form Number Respond. No. of Respond.	Control Form Form Regulation Respond Respond	Control Form Number Regulation Responds Respo	Control Form Number Regulation No. of Reports Respond Respond	Control Form Number Form Number Regulation Regions Respond Respond	Control Form Form Regulation Respond. Respo	Control Form Number Regulation Respond Respond	Control Form Form Regulation Response Response Total Response Response Total Response Response Total Response Response Total Response Response Response Total Response Response Response Total Response Response Total Response Response Total Total	Control Form Number Number Form Number Number Form Number Number Number Number Number Number Num	Control Form Regulation Regulation

						Existing						1		New				Program Cl	nange	Adjustment		Remains w	ith RD
escription	Control Number	Form Number	Regulation	No. of Respond.	No. of Reports Per Respnd	Total Annual Respnses	Average Response Time	Total Burden Hours	Control Number	e-Gov Instr Drafted	Form Number	Regulation	No. of Respond.	No. of Reports Per Respon	Total Annual Respnses	Average Response Time	Total Burden Hours	Regulatory Change	Previously Unapprovrd Collection	Response Time	Number of Respondt's	Respondt' s	Hours
																							ـــــــ
																		1					
																							_
													1										-
						+							+									-	_
						+							+									-	+
						+							+										+
						1																	
_												_											
·																							